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* act re deployment [TTITITTITITIIIT

* act re procdef IO

* act _ge bytearray [IIThkpmn[ITPng[IT]
&
@Test

public void createDeploy() {

RepositoryService repositoryService = processEngine. getRepositoryService();

Deployment deployment = repositoryService. createDeployment()
. addClasspathResource("diagram/holiday. bpmn") //[Thpmn[T]
. addClasspathResource("diagram/holiday. png")
. name( " [TTIII11")
- deploy();
log. info("[IITHd: " + deployment. getName());
log. info("[IIIIT} " + deployment. getId());
}

-{;:jad_re_drpbuymen! Dactiti... r_?é-.m'. ge_bytearray activit a '___]. re_procdel @actvaiti (loc

S fRmuns Bex-Tesz Fer e Ded
D MAME_ CATEGORY_  KEY TEMANT ID.  DEPLOY TIME_ ENGIME_VERSION_

¥ a2833cf7-10bb-11ea-92c%-00155d65d6c0 FEREEE 2019-11-27 10:14:25.966

2.

@Test
public void queryProcessDefinition() {
String processDefinitionKey = "holiday";
RepositoryService repositoryService = processEngine. getRepositoryService();
/ /111
ProcessDefinitionQuery processDefinitionQuery =

repositoryService. createProcessDefinitionQuery();

List<ProcessDefinition> list =
processDefinitionQuery. processDefinitionKey(processDefinitionKey)

. orderByProcessDefinitionVersion(). desc(). list();
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for (ProcessDefinition processDefinition : list) {
log. info("------------"------------ ")
log. info("[Q [0 O @Oid" + processDefinition. getDeploymentId());
log. info(" [JITHd[" + processDefinition. getId());
log. info( " [IITIIT]' + processDefinition. getName());
log. info(" [IITkey[l' + processDefinition. getKey());
log. info( " [IIIIITI' + processDefinition. getVersion());

* act _ge bytearray
* act re deployment
* act _re procdef
*/
@Test
public void deleteDeployment() {
String deploymentId = "a2833cf7-10bb-1lea-9ac9-00155d65d6c0";

RepositoryService repositoryService = processEngine. getRepositoryService();

// T T
// repositoryService. deleteDeployment(deploymentId);
//true T als e DT
repositoryService. deleteDeployment(deploymentId, true);
}
Ijgl OO L T T

M MectivitiM T e ctiviti T T T AT

@Test

public void startProcessInstance() {



RuntimeService runtimeService = processEngine. getRuntimeService();

ProcessInstance processInstance = runtimeService. startProcessInstanceByKey("holiday");

log. info( " [IITED: " + processInstance. getProcessDefinitionId());

log. info( " [IITED: " + processInstance. getId());

3.Businesskey( )

ITTTITTITbusinesskey[TTTlact ru_execution #ITTTTTTTTTbusinesskey[]

Businesskey[TTTTTTT T T T T T AT A O O O A O O O O T 0 OO T T

@Test
public void startProcessInstance() {
RuntimeService runtimeService = processEngine. getRuntimeService();
//IIID OO0 ThusinessKey  [TTTTIIITHd
//IIIIIIIIITkey
//IIIIIIITbusinessKey

ProcessInstance processInstance = runtimeService. startProcessInstanceByKey("holiday",

"1001" ) :

String businessKey = processInstance. getBusinessKey();

System. out. println("businessKey: " + businessKey);

- [ act_ru_sxecution @activiti L.

= hews [Bas-Tes bFaex Do Bt

o REV_ PROC_INST_ID_ BUSINESS KEY_ PARENT_ID_ PROC DEF ID_
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5.

@Test
public void queryProcessInstance() {
String processDefinitionKey = "holiday";

RuntimeService runtimeService = processEngine. getRuntimeService();

List<ProcessInstance> list = runtimeService. createProcessInstanceQuery()

. processDefinitionKey(processDefinitionKey). list();

for (ProcessInstance processInstance : 1list) {
System. out. println("-------------“"““"-“"“““-------- )
System. out. println(" [IITHid: " + processInstance. getProcessInstanceld());
System. out. printin(" [IITITHd: " + processInstance. getProcessDefinitionId());
System. out. println(" [OITITt " + processInstance. isEnded());

System. out. printin("[II1} " + processInstance. isSuspended());
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@Test
public void assignVariables() {

RuntimeService runtimeService = processEngine. getRuntimeService();

//Mpssignee T

Map<String, Object> map = new HashMap<String, Object>();
map. put("assignee@®", "[I');

map. put("assigneel”, "[');

map. put("assignee2", "[1I');

ProcessInstance processInstance = runtimeService. startProcessInstanceByKey("holiday2",

map) ;

System. out. println(processInstance. getProcessInstanceld());

}

p Fields

® Create[ITTIT1T

® Assignment[JTITIIT]
® Delete[ITTTT1T]

* Al

[TTITITITI I Torg.activiti.engine.delegate.TaskListener[T]
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MyTaskListener in com.example.activiti.listener

B Execution Lis

public class MyTaskListener implements TaskListener {
@verride
public void notify(DelegateTask delegateTask) {
delegateTask. setAssignee("[11');

iD_ REV_ EXECUTION_ID_ PROC_INST | PROC_DEF_ID_ NAME_ PARENT TASKID_  DESCRIPTION.  TASKDEFKEY.  OWNER_  ASSIGNEE_
¥ 3e24b2bB-10be-110a- 1 36215755-10be-11e8-8 3620bb14-1C hohiday:1:30337202- 10be-11es- INTHES usertask =
HcObadT-10c2-11ead 1 46c14fc4-10c2-11ea-Bc) dfbebTd- 10 holiday2:1:33325da1 - 10c2-11ea IR 2 |
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* 4110
@Test

public void findPersonalTaskList() {
String processDefinitionKey = "holiday2";
String assignee = "[II';

TaskService taskService = processEngine. getTaskService();

List<Task> taskList = taskService. createTaskQuery()
. processDefinitionKey(processDefinitionKey)

. includeProcessVariables(). taskAssignee(assignee). list();

for (Task task : taskList) {
System. out. println("--------cmmmmm i ");
System. out. printUin("[[TTHid: " + task.getProcessInstanceld());
System. out. println("[IJid: " + task.getId());
System. out. printin("[II11} " + task.getAssignee());
System. out. printin("[II1} " + task.getName());
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* 1[I0

T T Timap <key, value>[TTTTTTimap T T T ke y [TTTTTITIT]

@ata
@AlLlArgsConstructor
@NoArgsConstructor
public class Holiday implements Serializable {
//OIIIIIIker ializable[IIIIIIIIIIIIIIIIIIIIIserialVersionUID
private static final long serialVersionUID = 5707634407289856169L;
private Integer id;
private String holidayName; //[I1111]
private Date beginDate; //[I10]
private Date endDate; //[111]
private Float num; //[I11]
private String reason; //[M

private String type; //10

/x*
* I

* act _ge bytearray

* act ru variable

*/
@Test
public void startProcessInstance() {

String processDefinitionKey = "holiday4";

Holiday holiday = new Holiday();
holiday. setNum(5F);

//I111
Map<String, Object> variables = new HashMap<>();

variables. put("holiday", holiday);

RuntimeService runtimeService = processEngine. getRuntimeService();

ProcessInstance processInstance =



runtimeService. startProcessInstanceByKey(processDefinitionKey, variables);

System. out. printin(" [IITHd[I" + processInstance. getProcessInstanceld());

* 2111

O T I T I T I T T T T ke A T T T LT

@Test
public void completeTask() {

TaskService taskService = processEngine. getTaskService();

String key = "holiday4";
String assignee = "[11';
Task task = taskService. createTaskQuery().processDefinitionKey(key).

taskAssignee(assignee). singleResult();

Holiday holiday = new Holiday();
holiday. setNum( 4F);

//IIIIT]
Map<String, Object> map = new HashMap<>();
map. put("holiday", holiday);

if (task !'= null) {
taskService. complete( task. getId(), map); //[IIIIIIIIIIII
System. out. printin(" [II1111');

* 3T

@Test
public void setGlobalVariableByExecutionId() {
String executionId = "f789207c-0aa2-1lea-9a53-00155d65d6c0";

RuntimeService runtimeService = processEngine. getRuntimeService();
Holiday holiday = new Holiday();
holiday. setNum(3F);

runtimeService. setVariable( executionId, "holiday", holiday);

System. out. println(runtimeService. getVariable( executionId, "holiday"));



executionld[TTTTT T HAITHOAIITITNHIII T TruntimeService.getVariable () TT11T]

* 4TI

@Test
public void setGlobalVariableByTaskId() {
String taskId = "4d4716le- Qaa4-1lea- aea8-00155d65d6¢c0";

TaskService taskService = processEngine. getTaskService();
Holiday holiday = new Holiday();

holiday. setNum(5F);

Map<String, Object> variables = new HashMap<>();

variables. put("holiday", holiday);

taskService. setVariable( taskId, "holiday", holiday);

System. out. println( taskService. getVariable( taskId, "holiday"));

5.[Tllocal

* 1[I

T Mocal T T T T T T




@Test
public void completeTaskLocal() {
String taskId = "676c8a5d-0b35-1lea- ad44a-00155d65d6¢c0";

Map<String, Object> variables = new HashMap<>();
Holiday holiday = new Holiday();
holiday. setNum(3F);

variables. put("holiday", holiday);

TaskService taskService = processEngine. getTaskService();

//local ITIITITIT]
taskService. setVariableslLocal(taskId, variables);

taskService. complete( taskId);

T ocal T

6.

@Test
public void queryHistoricLocalVariables() {

HistoryService historyService = processEngine. getHistoryService();

HistoricTaskInstanceQuery historicTaskInstanceQuery =
historyService. createHistoricTaskInstanceQuery();

List<HistoricTaskInstance> list =
historicTaskInstanceQuery. includeTaskLocalVariables()

. finished(). list();

for (HistoricTaskInstance hti : Tlist) {

System. out. println(" ") e
System. out. println("[id:" + hti.getId());
System. out. printin("[IIT} " + hti.getName());
System. out. printin("[II1} " + hti.getAssignee());

System. out. println(" Jlocal[I]]' + hti.getTaskLocalVariables());
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2.

* 1[I

@Test

public void findGroupTaskList() {
String processDefinitionKey = "holiday4";
String candidateUser = "[T1';

TaskService taskService = processEngine. getTaskService();

List<Task> taskList =
taskService. createTaskQuery(). processDefinitionKey(processDefinitionKey)

. taskCandidateUser(candidateUser). list(); //[IIIII1]

for (Task task : taskList) {
System. out. println("--------------------- ");
System. out. printin(" [IITHd[I" + task.getProcessInstanceld());
System. out. printin("[[lid[]' + task.getId());
System. out. printin(" IIT1T]' + task. getAssignee());
System. out. printin(" [IIT1]' + task. getName());
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* 2[IITIIT]

/**

* [T I

*/

@Test

public void claimTask() {

TaskService taskService = processEngine. getTaskService();

String taskId = "a7ca3538-0b69-1lea-ald2-00155d65d6c0";

n D:rl;

String userId

yuinnnnnnnnnnnnn
Task task = taskService. createTaskQuery(). taskId(taskId)

. taskCandidateUser(userId). singleResult(); //[III11

if (task !'= null) {
taskService. claim( taskId, userId);

System. out. printUin(" [IT1111');

* 3T

@Test

public void completeTask() {

TaskService taskService = processEngine. getTaskService();
Task task = taskService. createTaskQuery(). processDefinitionKey("holiday4")

. taskAssignee("[11'). singleResult();

if (task !'= null) {
taskService. complete( task. getId());
System. out. printin(" OITTITIT}..");

* AT

/**



* [0 OO T
&/
@Test

public void setAssigneeToGroupTask() {
TaskService taskService = processEngine. getTaskService();

"a7ca3538-0b69-11lea- ald2- 00155d65d6¢c0";
n D]I;

String taskId

String userId

//[Muser IdTtaskIdIIIIIIIIIIIIIIIIIL]
Task task = taskService. createTaskQuery(). taskId(taskId)

. taskAssignee(userId). singleResult();
if (task !'= null) {
// WU OO

taskService. setAssignee( taskId, null);

* S

J**

* M0 MO T O T T T
Y
@Test

public void setAssigneeToCandidateUser() {
TaskService taskService = processEngine. getTaskService();

String taskId = "a7ca3538-0b69-1lea-ald2-00155d65d6c0";
n D]I;

String userId

//Tuser IdITttaskId[TTTITITITITITITITT]
Task task = taskService. createTaskQuery(). taskId(taskId)

. taskAssignee(userId). singleResult();

if (task !'= null) {
// I
String candidateUser = "[IT';

// T d OO I T T
Task taskl =

taskService. createTaskQuery(). taskCandidateUser(candidateUser). singleResult();
if (taskl !'= null) {

taskService. setAssignee( taskId, candidateUser);
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* 311

U -=>0 I =->11

@Test
public void completeTask() {

TaskService taskService = processEngine. getTaskService();

Task task = taskService. createTaskQuery().processDefinitionKey("holiday5 1")
. taskAssignee(" lisi").singleResult();
if (task !'= null) {
taskService. complete( task. getId());
System. out. printin(" OITTIIIT}..");
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public void completeTask() {

TaskService taskService = processEngine. getTaskService();

Task task =

taskService. createTaskQuery(). processDefinitionKey("holidayParallel")

. taskAssignee("zhangsan"). singleResult();

if (task !'= null) {

taskService. complete( task. getId());
System. out. printin(" OITTIIIT}..");
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